=4 Replaces Toro Groundsmaster 360

ﬁn Parts
2WD Traction Unit - Models 31201, 31228, 31229 & 31230

~ Traction Pump

i a0

70 g
" L] @ a@i 72

80 74 78

®
fﬁ %?z @ 77 ? O@@ﬁ :

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Groundsmaster 360

Hﬁn Parts
2WD Traction Unit - Models 31201, 31228, 31229 & 31230
~ Traction Pump

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity

105-7280,

70 R76-8870 768870

Lever Damper Assy 1 102.15

283-6,

71 R2836 0700

Clevis Pin-5/16 x 1 1/4 1 1.45

01-150-0180,
01-178-0610,
20-48-AD,
20-48-AGD,
32-9160,
3224-3,
323-29,
323-7,
400264,
908035P

72 R400264 Bolt- Hex HD 3/8-16 x 1-1/4 3 0.42

215-51,
30-8470,
3253-21,
Jul-12

73 R3253-21 Washer - Lock 3/8 3 0.15

32151-17,

74 R32151-47 32151-47

Ring-Retaining 2 1.75

119-4150,

522860 Washer - Bed Bar Pivot 2 0.70

75 R52-2860

76 R1-633131 1-633131 Yoke - Brake Linkage 1 11.75

77 R105-7239 105-7239 Rod -Threaded 3 18.80

01-188-0624,
215-50,
78 R3219-3 22-13-BJD, Nut - 3/8-24 3 0.36
22-13-BJKD,
3219-3

79 R3219-20 3219-20 Nut - Hex 3/8-24 LH GR8 3 1.15

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Groundsmaster 360

ﬂﬁn Parts
2WD Traction Unit - Models 31201, 31228, 31229 & 31230
~ Traction Pump

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity
104-8301,
104-9301,
80 R104-8301 109-6658. Locknut - 3/8-16 Nylon Flanged 8 0.88
133-7570

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




